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QUESTION 1

In a clustered Oracle ASM environment, a diskgroup is mounted in restricted mode. Which statement is correct?
A. You can mount the disk group on all the nodes.

B. You can issue any command, as long as you are using the force option.

C. You can open the database located on this disk group only in standalone mode.

D. You can open the database on this disk group only in restricted mode.

E. You know that nobody is using the disk group, so you can perform a fast rebalancing on the disk group.

Correct Answer: E

QUESTION 2

The Flex ASM instances in your four-node cluster currently have a cardinality of two. Identify the correct command that
will change the cardinality to three:

A. $ srvctl modify asm -cardinality 3
B. $ srvctl update asm -count=3
C. $ srvctl modify asm -count 3
D. $ srvctl modify flex count = 3

Correct Answer: C

QUESTION 3

Which statement about Allocation Units is incorrect?

A. Every Oracle ASM disk is divided into allocation units (AUs)

B. An AU is the fundamental unit of allocation within a disk group

C. Afile extent consists of one or more AUs

D. The au size disk group attribute can have the following values; 1, 8, 16, 32, 64, or 128 MB.

Correct Answer: D

QUESTION 4

Which are the correct steps required to discover targets manually, using Oracle Enterprise Manager Cloud Control
12¢?
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A. Enterprise > Configuration > Search

B. Targets > All Targets > Configure

C. Setup > Manage Cloud Control > Management Services
D. Setup > Add Target > Add Targets Manually

E. Setup > Discover Targets > Add Targets Manually

Correct Answer: D

QUESTION 5

Which statement best describes the interaction between an Oracle ASM instance and the Oracle Database?
A. Oracle ASM provides an access path between a database instance and storage.

B. A database instance uses an extent map provided by Oracle ASM to access data files

C. Oracle ASM provides storage services only and does not interact with the database.

D. An Oracle Database must use Oracle ASM in a high availability configuration.

Correct Answer: B
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